1st stage

5/12(1) ERFEBBRESE (LM EILKEF)
11:30 RIFX = AR KoK FEREA = RHEX PR
13:00 EBEX — [N Cl&lt £—I - BHEK D1&IF
14:30 XDK — REARK C2&lt EPEN — [P D28+
16:00 {EHE — NItE BEAKX BEK = HEK B3 K

5/12(%)

13:00 EBEX = ALK BEEX R — BEEX BIK
14:30 AEX — WEX E1&(F [E1EPN — VSRS F1&l+
16:00 BEX — 18, 19D & AEX BIK — RIGX VSRS
5/12(%) EEARBERERENEE
G T.O
13:00 BEX |—] fEA K BERS
304K B8
15:00 BER [—] ERE | mAx

5/12(H) BERFEBRRESE (LM EILKEF)
10:00 B#EX = 2, 3DBE (PN BHEK = JUINK faRE X
11:40 4, 5OBE — 6, 7TMOME Cl&lt HIIK — 9, 10DE D&+
13:20 BEX = [N C2&l+ i N = 12K D2&(+
15:00 REKX — 15, 16 DIE REFEXR 25, 26D EE — &R K SRR

5/13(R) BHREEGEBEREAM)

E T.O0 F T.0
10:00 BEA =] 11 1208% BEK 21, 2208% | — | 23 240B%F BfEX
3043 KEE
1200 | A [—] 2,305 | BBK | 17~100BE | — | B#EX GEE
5/ 13(H) EEARBERERENEE
G T.O
10:00 17, 180BE | — | Btk R
305K EE
1200 [ 11, 1208%F | — | BEAX | Btk
2nd stage
5/ 18(%) KEAREAREE
A T.O0 B T.0
10:00 15, 16 DHE = 17~19D B 10~120 & = 13, 14DBE
11:40 21~24DHE — 25~27DiEE Al&lF 14~16DHE — 17~20D & B1&IT+
13:20 1~3D A = 4, 5D & A&t 6, TDOE = 8, ODE B2& 1+
15:00 1~3DkE — 4~TDHE A&l 8~10DHE — 11~13DHE B3& I+
5/19(%) KEAREREE
A T.0 B T.0
10:00 AQHE = BRMKE ADRE = BOKE
11:40 ADERE - BOKE Al&lF AQME — BQKE B1& (T
13:20 1~5D A = 6~9MiE A28+ 10~14DE = 15~ 19D & B2& I+
15:00 1~TDEE — 8~13MkE A3E T 14~20D & — 21~27MEE B3& I+
5/20(8)
10:00 L FILLRTER LT F5HRTER
11:40 BHFIGLREE A&l BFSRLRE B1&I+
13:20 KRR E
15:00 BFIREEE FE




